
640 DUKE II ORANGE 2003 <2003><EU><972634>
TANK, SEAT

1263

Pos Part Number Description Additional Text Quantity

3 54601097000 RUBBER STRIP 85X25X3 MM 4.00

4 51107004000 FUEL COCK CPL.MIKUNI CK-69 '96 ONE CONNECTION 1.00

5 58307106100 GASKET FUEL COCK MIKUNI 1.00

6 54435024001 HOSE ID 7,5 PER METER FOR 12 LITER TANK 0.12

7 58031005000 CLAMP YDNAC 10128 12MM FOR 12 LITER TANK 2.00

8 0603061001 CU-SEAL RING DIN7603-6X10X1 2.00

9 0015060123 HH COLLAR SCREW M 6X12 WS=8 2.00

10 0015060253 HH COLLAR SCREW M 6X25 WS=8 1.00

11 58407008100 TANK PLUG LC4 USA '99 WITH TANK AERATION 1.00

12 58307113250 TANK BUSHING CPL. 12 X 34 X 25 2.00

13 58407013300 FUEL TANK 11LI.CPL.LC4 BLACK 1.00

14 58307014000 SPECIAL NUT M8 1.00

15* 31004001100 WASHER 10,5 X 21 X 3 1.00



16 51005067100 INSOLATE WASHER 12X28X3 1.00

18 0934080003 Hexagon nut DIN934 M8 1.00

19 58407011000 SCREW FOR SEAT M 6X13/8 1.00

21 58707050000 SEAT LOCK DUKE '99 1.00

22 58707050050 RUBBER SLEEVE F.SEAT LOCK '99 1.00

23 0991050253 FLAT HEAD SCREW DIN7991-M 5X25 2.00

24 0985050003 Self locking nut DIN 985 M5 2.00

39 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 1.00

40 58707040400 SEAT BLACK/CARBON DUKE 2000 DUKE WHITE, DUKE
BLACK

1.00

40 58707040600 SEAT ORANGE/BLACK DUKE 02 DUKE ORANGE 1.00

41 58707040450 SEAT COVER BLACK/CARBON 2000 DUKE WHITE, DUKE
BLACK

1.00

41 58707040650 SEAT COVER ORANGE/BLACK 02 DUKE ORANGE 1.00

50* 5840805030030 SPOILER L/S BLACK DUKE 03 DUKE BLACK; DECAL
TAKE IN

1.00

50* 5840805020070 SPOILER L/S ORANGE DUKE 03 DUKE ORANGE; DECAL
TAKE IN

1.00

50* 5840805130030 SPOILER R/S BLACK DUKE 03 DUKE BLACK; DECAL
TAKE IN

1.00

50* 5840805120070 SPOILER R/S ORANGE DUKE 03 DUKE ORANGE; DECAL
TAKE IN

1.00

52 50308052000 BUSH FOR SPOILER 6X11X16X5 MM 2.00

55 0015060203 HH COLLAR SCREW M 6X20 WS=8 2.00

56* 0014060133 HH COLLAR SCREW M 6X13 WS=8 6.00

61 50235033300 SNAP-NUT HOLDER M6 KP142 2.00

98 50303018000 RUBBER L=145MM 1.00

99 58729099000 TOOL SET DUKE '99 1.00
* = New part


